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The following figure shows a belt conveyor operated by an electric motor through an
open type V-belt drive. Whereas, the belt conveyor is of type flat belt and qperated
between two equal diameters pulleys (drive and driven pulleys) of 500 mm diameter.

The belt carries a load of 500 kg weight and moves with linear speed of #”mfs.

, Coefficient of friction for belt with pulleys = 0.3, Center distance between the two
: pulleys= 20m. Find the following:-

a- The total length of the belt
b- The rotational speed of the pulleys.
c- The belt tensioning forces.
d- Power of the motor required to operate that belt conveyor. S
@-The belt width, if its material allowable strength (San)= § MPa and 40 mm thickness.
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